
50”-75”
600 x 400
100 x 100-

VESA

(45 kg 
per screen)

014-6013
Installation instruction / Instructions d'installation V1

Support plafond pour 3 écrans TV 50"- 75" 
Triple Screen TV Ceiling Mount



5°
10°
15°

6°

90°

x3

2

Dimensions 

680mm[26.8 ]

13
60

m
m

[5
3.

4″
](M

in
)~

17
25

m
m

[6
7.

9″
](M

ax
)

200mm[7.9″]

19
0m

m
[7

.5
″]

φ30mm[φ1.2″]

40
0m

m
[1

5.
7″

]

86
0m

m
[3

3.
8″

](M
in

)~
32

55
m

m
[1

28
.1
″](

M
ax

)

630mm[24.8″](Max)
690mm[27.2″]

φ50mm[φ2.0″]

1

2
3
4 5 6

7

8

1

2
3456

7

8

1
2 3 4 5

6

7

8

1
2345

6

7

8

014-6014(2,5,7,8)014-6013(4,6,1,3,7,8)



3

CAUTION / ATTENTION

Stud Finder
Détecteur de goujons

Socket Set
Set de douilles

Pencil
Crayon

Level
Niveau

Drill
Perceuse

Hammer
Marteau

Phillips Screwdriver
Tournevis cruciforme

Measuring Tape
Mètre

Wood Bit
Mèche à bois

32" "
7

Masonry Bit
Mèche à béton

8
3

Required Tools / Outils requis

Parts List / Liste de composants

M6X8M8X10 4&5mm M8

X12 X1(Each) X12

B1 B2 B3 B4 B5 B6

X12

X1
6mm

X1 X1

C7
M6

X6

C8

X1X1
M6x85

X6 X6

13X   6.2X1.5

X3M5X15 M6X15 M8X25 6X   6.2X1.5

X4 X4 X4

A1 A2 A3 A4

X4

M8X45 6X   8.2X1.5

X4

A5 A6 A7

X4 X4

3X   8.2X13

M8M8X70 M8X65Lag bolt Anchorφ16Xφ8.2X1.5 φ16Xφ8.2X1.5

C1 C2 C3 C4 C5 C6

X6X3 X6 X10 X7X6 X6

The maximum loading weight is   66 lbs (30kg Per Screen). This mount is intended for use only with the maximum weights indicated. 
Use with products heavier than the maximum weights indicated may result in instability causing possible injury. The wall you plan to 
affix the 014-6013 mount to must be also able to support more than 5 times the weight of the television and the mount combined. 
Do not use this product for any purpose other than to mount a VESA compliant TV on a vertical surface as outlined in this manual. 
Improper installation may cause damage to your TV or serious injury. This product should not be mounted on steel stud walls or 
cinder block walls. Consult a qualified installation contractor if you are unsure about the type of wall you may have.. 

Select TV  Screws / Vis



Brick or concrete
Brique ou béton

C5

C4
C4

2-a

2-b

   6mm

Installation 

1

B3

C1C2

B4

C3

Wood / Bois

C4
C4

3

D12

D12

D2

B2

   5mm

4

X4 X3 X3

X3

X3

X3 X1

X1

D4 D5

D6 D8D7 D9 D10

X6

D11

X1

D12

D1 D2 D3

X6 X6

M5

400T

680mm800mm



5

6mm

4

6

5 On both sides
De chaque côté

D7

7

B3

   6mm

B3

C3 D9

C6
D12

9

4mm

10 111

   5mm

B2 

B2 

D12

D5

8

Telescopic adjustable out and in
Réglable vers l'extérieur et l'intérieur

   5mm

13

B6

12
D10

D10D10

D4

B5
B2

This screw must be installed 

Cette vis doit être installée



   5 mm

14
   6 mm

15

Keep the fixed position in align center
Maintenir la position fixe au centre de l'alignement

B1

19

16 17

20 21

5 mm

5mm

C3

C6

C8

C7

1

2

3

6

18 A1/A2/A3

A6

A7
A5

A4

Pour les écrans avec un motif de trou, une 
entretoise doit être placée entre la plaque 
d'adaptation de l'assemblage et l'écran.



22

D11

wire cable 
Câble 

Cable ties 
Serre-câbles

Passe-câbles

7



8

Tilt / Inclinaison 0° Tilt / Inclinaison 5°

Tilt / Inclinaison 10° Tilt / Inclinaison 15°

0 5

10

15
10

0

5

10

15

1

0

5

10

15

1
0

5

10

15

1

0

5

10

15

2

0

5

10

15

2 2
0

5

10

15




